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3.00K).

B A R B M T R EE ES BN 2458 3. 0 K.
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22 [fR) (1) CE=x %. 2. () RE %41 4.
1E RtABCE 1, 2 BCE=90°, / BEC=60°,

L EBC=30°, coeeeererrineniiniiiniinn. (149
CE CE
E= i Epe B0 e

" L BEC=60°, / F=30°,.. / FBE=30°,

. L FBE=/F, ' BE=EF=2x.

P EF=30,:.2x=30,.. x=15, «eeevveeeen (3 %)
o BC=15/3 k.

B EAGRIE BC KA 153K, e (4 %)
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(2) CE=15,EF=30,.. CF=45. " /NWI) 3 &

H30+60=—-Ok/B) - MBI F L8 C BT
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2 NWIA A F I 5 C B ] SR 90 F.

................................................... (7 %)
(#&) (1) WK, S8 D AE DF L CE T 5 F, N
£ CFD= £ EFD=90° g Z 5, CD =100 X,
L CDF=60°, £ EDF=45° «-cecoeeenenen. (149

J3

£ RtACDF # ,CF=CD - sinLCDF=100x7:

503 () ,DF=CD - cos . CDF= 100x%=
SO(K).  errremmrerneee (2 %)
7€ RtADEF -+ / EDF=45° DF=50 %},

. EF=DF - tan £ EDF=50x1=50( %) ,

. CE=EF+CF=(50+50/3) k.

B JREIX C 5RIXE AR (50+50/3) k.

(2) W, 1k s E A EG LAB T G, 5i B AE
BH1 CE + H,)ITJJ £ EGB =/ EHB =90°. f5i&=
H,CE//AB, £ EAG = 60°, / CBH = 45° AE = 50
*K,.. LEGB=£EHB=/HBG=90°,.. Wit
EGBH 246 ,.. BH=EG ,EH=BG. +----- (7 %)
J3

TE RtAAGE /1 EG = AE - sinLEAG=50X7=

1
25/3 (k) ,AG = AE - cos L EAG = 50 x 5=

25 (k). £ Rt ACBH /", BH = EG
25/3%, W CH = BH - tan ~ CBH =
25/3%,... EH=CE-CH =50+ 50 .3 -
25./3 =(50+25,/3) K, ... AB=AG+BG=AG+EH =
75+25/3 =118(k).

B RIXALB ZIAIR A B2 118 K.

(BB (1) WA, 5 A i AC LOM T C.

1
" AB=16,0B=30A,. 0A=16x - —=4.. 0B=
BOAZ 12, cevevneneneneneneneneeeaeeeaans (2 %)

7E RtAAOC W1, L AOC=60°,04=4,
1
5 0C=—0A=2,5 CM=4-2=2, S A (T4

A 5 e T T BB RO 2 R e (54)
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B, ®RFEAG L
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(2) 40,3 5 B'YE B'D LOM T 53 D.
£ Rt AB'OD 1, 0B' = OB =12, LOB' D =
108. 2°=90°=18. 20, ++errererernrerrnannnn (759
. OD=12xsin 18. 2°~12x0.31=3.72,
o DM=4-3.72=0.28, ... % fIl5 B’ 5 Hh ifi 1 1 1
BEBE 2R 0. 28 . wevvreeremnneeenninenenen. (9 %)
25 [fR]) (1) J7 % — ok vt 3 /K 3 m) v 2 1) 5
BECHE TR R - s CD Y
£, AABC T ACDE Jg i st 57 Wk &, Jo ik 145 5
AABC MR — KB, - r E— Rk
TKIRTATT R B TR, ooeeevvnerneeenens (3 %)
(2) (R —FhRITT) BERE TS s
* LACB = £ADB + £ CBD, /ACB = 60°,
£ ADB=30°,.. /ADB=/ CBD=30°,
S BC=CD=11.8 m, worereerereresnnennnnns (6 %)

3
- AB=BC - sin 60°=11. 8><gz10. 2(m).

BOKMT PR A S 290 10. 2 m. -+ (94)
AB
EHEHTRE= 1 AB=x m, )] AC = =
tan 60°
/3 AB
- AD= =/3xm, ceeeeeeeeens 6 2
3 xmAD= e =/ m, (62)

3
€x+ﬁx=23. 5, /% x~10.2,.. AB~10.2 m.
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26. (1)1 .......................................... (2 h\)

(BAT) AN 0N ER=-AEREL=fA

2 . . sa °=@= K 2=

& ,.. sad 60 e 1. &EEN 1.

(B&) (2) K (1) frow, fE ¢

CD 1L BA F /5 D. v AABC
AB

CB=CA,sad LACB=— =
EF'y , Sa va BC

6 6
< AB=""BC. o CDLAB, & (1)

1 3
BD=AD=7AB=?BC, .................. (5 %)

4
cn s 4
fan B=——=———=—, «teettiiiiiiiiiin 7
METEpT 3 3 (72)
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“tan B” #4944, @ R
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(3) W (2) fis, 76 AB FaRE B
AD=AC,52’_ET§ CD,{/‘E DE 1 AC F

BB, weeeeeenneeneeeniens (9 %) D
© Rt AABC W, LACB = 90°,
. _BC 4 _
smA—E—?,..l«xBC—4a, i "
AB=5a , | AC=AD=3a,.. cos A= & (2
y 3““ e o H(2) 26. (3) & AB E A3
E=?,.'. DE =AD - sin A=3ax AD = AC B}, % 4%
n g =
i 1o 5 AL, 424 B R
e TAE AD - cosA—3aX?—?, A A B R R OE
................................................... (11 %) HERR Ay, f2
9a 6a . . THAEHmA TE
. CE=AC-AE= 3(1—? ?, CD= /CE +DE" = 5 5.
6y ?, (1207 _6/5
(5) %) =50
6/5a
cD 5 2/5
A=—= B 12 o
sad e 34 5 (12 %)
8 LR
1.C [fBRAT)E AC=x, 0] BC=3AC=3x. 7f Rt AABC H, AKX EIERS AB =
AC /1
AC+BC* = /v + = /10%, bl sin B=2C= % - V10 e ¢
AB” /Tox 10
2.D [f#4f7)

‘ (CO%A—%) +l1—-tan BI=0

%k D.

3.B [#BH7] % RIAABC T, £ C=90°,tan B:%,;. 2—52@%43 HITELT. S0 B

1 1
4. A [fBAT) 2C=90°,AB=8, L B=30°,.. ACZTAB=7x8=4. TR PRZBCiH

EHRIR,ANERB,CES, .. 4<AP<8, AP (KNI HERE 3. 5. BUk A

5.0 [#BAF) B iR, % AABC F, L C=90°, LA=a,AC=m, A
.. cos aZng,.'. AB p— . @0k D. CQB
6.D [fE47]
@—’ FERtIAABDF , cosAABD—— AB=4 k., |
. BD=4cos a k.
EMCELBD# % R |  ACAAB# Y &, CELAD, ADLBD,
-'-CE//BD, .CER AABD#) 154,

KibicER ¥ CE=% BD=2cos a k., #&D.
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7.C [RRAF)NZE M B ST B4R A (0 T ARR D, (DB M A, 175
I E 47 A 9E TR DBk, 90°, AL C AT WA D, (1B
RN #k C
8.B [FRHFI4IE, E M INE S HMNESSY 1,0V = X
T QM= QY+ MY =x+ 1. 8 PQ tAIPI53X A EFE 5 — ‘
M

- Paray 2 1
RREFRABZE T DB, . Sapgn+ 1= 10X 1% 5 =5

1 1 8
7PM- OM+1=5,.. 7><5(x+1)+1 =5, x=—,.". QM:?. - TY//PM,

M 8
L QTY= £ QPM,.. tan £ QTY =tan £ QPM = ng 25 %k B.

9. A [fMT)WE, TS AEAH1LBC T H -~ AABC 258 = A
A, . AB=AC=BC=6, L BAC=60°. - AH1 BC,.. + BAH=

1
?LBAC =30°, .. £BAD+ £ DAH = 30°. ‘- £ DAE = 30°,

. LBAD+ L EAC = 30°, . £LDAH = £ FAC, .. tan/ DAH= r

) HE C
1 1
tanAEAC':?. BH=7AB= 3,AH = ABsin 60° = 6x gz
DH DH 1
3/3, . tan/ DAH=——=——=—,:. DH=/3,.. BD=BH-DH=3-/3. #3% A.
AH 3ﬁ 3’

10. A [fB4f) LACB=90°, L/ A=60°,AC=2,.. BC=AC * tan 60°=2x/3 =2./3.

1 1
v ED, R E, S FoRlE AC,AB,BC 9H &, .. AD=?AC=1,DE=?BC=

AD + DE _1
J3,DE//BC. 5. LADE= £ACB=90°, . S="— Xzf—f,ﬂfis {
2 3 n
i,Szzﬁx(i) ,Sz:@x(i) y ey Snzﬁx(i) ,'..52024:£X
4 2 \a) T > | 5
1 2024
(7 CWOE A

11.30 [F&47]" cos a=§,a SRR, =300, HEZ= R 30.

12.45 [BBAT) . R ABEOWE i=1:1, A H a,. . tan a=1,.. a=45°, 18X
o4 45.

in A in A
13.60° [MRHF) - tan A= /A 285, tan A=2sin 4, .. —— = dsin A,
cos A cos
1
.. cos A=7,.'. L A=60°. & ZEH 60°.

145 AT, S0 BAR, NEFERES |

At = A{EAD LBC T D,id & B 1€ BH LAC T
H g EAREinKA 1, HEATE AB=AC=

5 1 1
V6 +3 =35 S, ,0=—BC - AD=—AC - BH,
4 2 2

12f
6x6 12 BH 5 4 4
- py=6_12/5 #5 RUAABH 9 ,sin / BAH=" =2 =% qpstemmy ©
3/5 5 AB 3/5 5 5
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B 2594
o bRk MiEEA=ATER

KEAARKE DB EGEE SREAY MELAZAY, REMALHR
Y RIS = SRR LTI,

2.7 (FEATIAAE, R BAEBD LOA T D, id

B
CE CE 1 OA F E. ZERtABOD &, / BOD = 45°, TT AT T T T ]
0 1 '3 4 5

/. BDO=90°,.. /OBD=/BOD=45°."- OB 5 R T
ERMRZ A BEREEEBEA 2 em, . OD= D E A
2 em,.. BD=0D=2 cm. ST BDEC 245

CE
F. CE=BD=2 em. 7 RUACOE 1, LEOC = £AOC =37°, an LEOC =

CE 2 2
OE = = = =~
tan £ EOC tan 37° 0.75

EHAH 2.7 em EERH 2.7

2.7(em),.. OCER EBRHAXZS CAER W

3
s [#BAT) % CD=x,M) AD=AC-CD=8-x. - DE EEH ¥4 AB,.. DB=AD =8~
%' £C=90° . BD" =BC*+CD*, .. (8-x)"=4"+4",. .. x=3,.. CD=3,
DC 3 3
Stan/ DBC=——=—" #&=H—
tan - BC 4 MERNY
(1)60 (2)(6/3-6) [fB4F)(1)-- OD LDC,BC LAB,.. L,0DC= £ ABC=

90°. " £DCB=120°,.. £DOB =360°- 20DC- £ DCB- £ABC = 60°. # & %
7 60.

(2)ZNEl, FEK OD, 32 BC EK LT R E. f£RIAOBE E
#, £ E=90°- £ EOB=90°-60°=30°. ¥4 DC=4 X}, = 0 D’
iC
1 1
JABfIF S, o OB= —AB=—-x24=12(K), - OF =
20B=24 X,.. BE= /JOE'-0B’ = /24'-12 =123 (X). & 0 B

RtADCE &, £ EDC=90°, L E=30°,.. CE=2DC=2x4=8(%),.. BC=BE-
CE=(12/3-8)%. ¥4 DC=1 K&, ZERIADCE ®, / EDC =90°, / E =30°, ..

1 1
CE=2DC=2x1=2(%)."" AB=24§K,0B=?AB,.'. OB=ZX24=6(§K) . OE=

20B=2x6=12(*),.. BE= /OE*-OB* = \/12°-6* =6/3 (¥),.. BC=BE-
CE=(6/3-2)%,.. AR BC 5ERZE R TSESRE (123 -
8)-(6/3-2)=(6/3-6) K. thEZEH(6/3-6).

(200/3-100) [ fBA7) 400,33 5 D {E DF LAE 55 AE 3K 4
F& F,N DF=AC =200 *,AF=CD. {8IE =158 L DEF = 45°,

/ABC= s/ EAB=30°, . ADEF 2% EH A=A, .  DE=/2DF=

AC 200
200y2 K ,EF=DF =200 X. - AC=200 KX,... BC=———=—=
V2K A x tan £ ABC N&)

3

200,/3 (K),.. AF=CD=BC+BD=(200,/3+100) K,.. AE=AF-EF = (2003 +
100) —200= (200,/3-100) K. #& 224 (2004/3-100).
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BAC, B RX K 0] BN E AT 7%
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20. [BEEOHT) (1)1 = A 1E BD (L BD NEKE TR E,BERA=FATEN 5
SKH AB,BD 5 AE fIX R, T 54518,
(2)fE AB EBU— g F, {18 DB=DF 34 CF. 533K L FCB, L ACF HYE4, ]
B

21 [(XRRR AT ELZEMEA-AFENNE £ 2R, MESENE
A=A R XA LR

22 [BEEOHT) (1)1% CE=x X, BEAB=FBFH5FR7HE BC,BE (K. FI %A
XNEIN 51§ BE=FE,RI T K1F CE 1y, #fKE BC K.
(2)4R4E (1) UL RIIKE CF=45, RFPEIKFZ/NRIFRE, AEREBERE FF
BN EENIEI

23 [ISERB) ABPERZ KA, EX4SF BHRANEE A= AR BR B

24 (BB () WEEA=AE, TEA=AF AOC R BHHEA=ARBNE
SR ERIT; (2) 5 B'E OM NEL, MEEA=AF, KH LB HE
L, BB = AREME X TR Y 0D g3, #E sk DM f9KR1 ).

25 [RERRFBAR=RBIAN, ZRISEXR A AC+AD=CD , B RS K HE
F3 A2 A (o) L.

26 (KRR AVLESHEA =AY, BANXERERAEPLEENHTE
MO EHEENWH L MESE=AMER=AF.



